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I. Multiple Choice (| points each)
Idgntify the letter of the choice that best completes the statement or answers the
question.

1. Holding all other forces constant, when the price of gasoline rises, the number of gallons of
gasoline demanded would fall substantially over a ten-year period because
A. buyers tend to be much less sensitive to a change in price when given more time to react.
B. buyers tend to be much more sensitive to a change in price when given more time to react.
C. buyers will have substantially more real income over a ten-year period.
D. the quantity supplied of gasoline increases very little in response to an increase in the price
of gasoline.

2. Suppose that Mike is filling out a survey. The survey asks him what he would do if the price
of his favorite shaving gel increased. Mike reports that he would switch to a different brand. The
survey then asks what he would do if the price of all shaving gels increased. Mike reports that he
must use shaving gel, so he would have to adjust his spending elsewhere. These examples illustrate
the importance of

A. changes in total revenue in determining the price elasticity of demand.

B. the definition of a market in determining the price elasticity of demand.

C. a necessity versus a luxury in determining the price elasticity of demand.

D. the time horizon in determining the price elasticity of demand.

3. Suppose that Elmer’s hourly wage increases, and he decides to work fewer hours. For Elmer,
the substitution effect of the wage.change is

A. greater than the income effect.

B. equal to the income efiect.

. smaller than the income effect.

D. We do not have enough information with which to answer the question.

4. In the work-leisure trade-off analysis, if tax reductions induce a consumer to work more, an
explanation for this occurrence is that

A. leisure is an inferior good.

B. leisure is a Giffen good.

C. the substitution effect dominates the income effect.

D. the income effect dominates the substitution effect.
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5. Which of the following production functions exhibits constant returns to scale?
A Q=K-L.
"B. Q = K04. 104
C.Q=K+L-2.
D. @ =2K +3L.
6. Consider a market demand function @ = 2000t (P+8)3 There is a monopolist in the market

with no fixed cost, and its marginal cost is $8 at all levels of output. "What price will it charge to
maximize its profits?

A. 20

B. 12

C. 10

D. 16

7. Josh sells mojos as a monopolist in a market with two consumers, Lyle and Yu-Min. Lyle’s
demand function for mojos is 1, = 20 — Pr. Yu-Min’s demand function is Qy = 10 — Py. Josh
only knows there are two consumers but does not know who has a higher demand. Therefore, he
decides to offer two options O; = (g1,m1) and O, = (g2, my). If a consumer chooses O;, he pays
m; dollars to buy ¢; mojos. Consumers can only choose one offer, and resale is not allowed. If Josh
wants to practice 2nd-degree price discrimination, which of the following offers should he use?

A. O; = (20,200) and O, = (10,50)

B. 0, = (20,125) and O, = (8,48)

C. 0, = (20,140) and O, = (6,42)

D. O, = (20,165) and O, = (4, 32)

8. In the game matrix below, the first payoff in each pair goes to player A who chooses the row, and
the second payoff goes to player B, who chooses the column. Let a,b, c and d be positive constants.

Player B
Left Right
Player A Top a,l b,0.5
Bottom 1,c 2,d

If the game only has a mixed-strategy Nash equilibrium, then we can conclude that
A b>aandd>c

B.a>1and d<0.5.

C.a<landbd>2.

D. None of the above is correct.
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9. Concerts in Taipei Dome cause noise and earthquake-like vibrations for surrounding residents.
According to an estimation, there are 1,000 residents affected, and the average mental damage per
concert for each resident is Dg = 5 + @), where ) stands for the number of concerts per month.
On the other hand, the monthly concert revenue of Taipei Dome is Ry = 10,000Q — 1,000Q%. The
marginal cost of holding each concert is 1,000. What is the socially optimal number of concerts?

Al

B.3

C.5

D.7

10. Which of the following is not a characteristic of a public good?
A. Tt is not excludable.
B. It is not diminished or depreciated as additional people consume the good.
C. Its benefits cannot be withheld from anyone.
D. Because it is a free good, there is no opportunity cost.

11. Which of the following events would decrease the unemployment rate?
A. A decrease in the labor force combined with an increase in the total population.
B. A decrease in the labor force, with no change in the number of employed workers.
C. A decrease in the number of employed workers, with no change in the labor force.
D. An increase in the labor force, with no change in the number of employed workers.

12. Which of the following policies is considered quantitative easing?
A. The central bank prints money and directly transfers it to financial institutions.
B. The central bank purchases short-term government bonds.
C. The central bank sells short-term government bonds.
D. The central bank 13urchases long-term government bonds.

13. In the long run, what is the primary cause of inflation?
A. Increase in the minimum wage.
B. Government’s currency manipulation.
C. Growth in the money supply.
D. Protective trade policies and high tariff rates.

14. All else being equal, which of the following outcomes would we expect from a decrease in
Taiwan’s interest rates?
A. Citizens decide to hold more foreign bonds.
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B. Citizens choose to hold more currency.
C. Domestic business owners decide to invest in new equipment for their factory.
D. All of the above are correct.

15. -If inflation expectations rise, the short-run Phillips curve shifts:

A. to the right, so that at any inflation rate, unemployment is higher in the short run than
before.

B. to the left, so that at any inflation rate, unemployment is higher in the short run than before.

C. to the right, so that at any inflation rate, unemployment is lower in the short run than before.

D. to the left, so that at any inflation rate, unemployment is lower in the short run than before.
16. In a world described by the classical dichotomy, assuming GDP and the price level are given, if
President Trump raises U.S. import tariffs while all other factors remain unchanged, how will this
policy affect Taiwan’s loanable funds market?

A. The real interest rate will increase.

B. The real interest rate will decrease.

C. The real interest rate will stay the same.

D. It will shift both the demand and supply of loanable funds simultaneously.

17. Consider a partial equilibrium model for good A in Taiwan. -If President Trump raises U.S.
import tariffs on that good, thereby reducing Taiwan’s export prices, and assuming Taiwan is a
small country and the U.S. is a large country in the market for good A, how will this affect Taiwan’s
consumer surplus? ’

A. Tt will increase.

B. It will decrease.

C. It will stay the same.

D. The change will be ambiguous.

18. If President Trump raises U.S. import tariffs, assuming all other factors remain unchanged,
how will this policy affect Taiwan’s economy according to the classical Keynesian model?

A. The output will decrease but the price level will increase.

B. Both the output and price level will decrease.

C. The output will decrease but the price level will stay the same.

D. The output will increase but the price level will stay the same.

19. If President Trump raises U.S. import tariffs and leads to workers in the associated industries
in Taiwan losing their jobs and other things being equal, how will this affect the natural rate of
unemployment in Taiwan?
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A. Tt will increase.

B. It will decrease.

C. It will stay the same.

D. It depends on how the cyclical unemployment rate changes.

20. In the long run, assuming GDP and price level are given, if investors in Taiwan fear that
President Trump will raise the U.S. import tariff in the near future and other things equal, how
will this affect Taiwan’s economics?

A. An increase in net export of Taiwan and a rise in the real interest rate

B. A drop in net export of Taiwan and a rise in the real interest rate

C. An increase in net export of Taiwan and a drop in the real interest rate

D. A drop in net export of Taiwan and a drop in the real interest rate

I1. Problems and Short-essay Questions

1. A competitive market currently has 120 firms, all of which has a total cost function of T'C(q) =
9 4+ 11q + ¢2, where g denotes the quantity produced by each firm.

a. (10 points) Currently, the market price p = 19. What is the total quantity supplied in the
market? How much profit does each firm make in the short-run equilibrium?

b. (5 points) What is the long-run equilibrium price? Suppose the market demand is given by
p=35— %Q, where @ denotes the market quantity’ demanded. How many firms are there in the
long-run equilibrium?

c. (5 points) Suppose now the government levies a $2 specific tax on each unit of the output
produced. How many firms are there in the long-run eqﬁilibrium?

2. An industry has two firms, A and B, producing output at constant unit costs of 1 and C > 1
per unit, respectively. The demand function for the industry is

|4
°=3p

with V > C.

a. (10 points) Suppose two firms are Cournot competitors. Find the equilibrium price, quantities
produced, and profits for two firms.

b. (10 points) Suppose two firms are Bertrand competitors. Moreover, when both firms set
identical prices, all consumers purchase from the more cost-efficient firm. Find the equilibrium
price, quantities produced, and profits for two firms.
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3. Counsider consumers in Country A and Country B, who each consumes 2 units of bananas and 5
units of pizza every year. The currency unit of Country A is AD, and the currency unit of Country
B is BD. Please answer the following questions in detail:

a. (10 points) Assume that in year 2000, the prices of bananas and pizza in Country A were
3 AD and 5 AD, respectively, and the prices of these items in Country B were 2 BD and 2 BD.
Suppose the purchasing power parity holds between the two countries. What was the nominal
exchange rate of AD in terms of BD in year 20007

b. (5 points) Does the law of one price hold according to the information in (2)? Why or why
not?

c. (b points) In 2001, the price of bananas and pizza in Country A became 2 AD and 6 AD,
respectively. Please calculate the CPI index of Country A in 2001, using 2000 as the base year.

4. In this question, we will examine the monetary and fiscal policies of Country Z. The economy
of Country Z is described by the following equations:

Y=C+I+G
C =100+ 0.5(Y — T)
I =300 — 50r

where Y is GDP, C is consumption, [ is investment, GG is government spending, T is taxes, and 7
is the real interest rate (for example, if the real interest rate is q%, then r = q).

Country Z has recently experienced a significant negative economic shock. The president plans
to implement policies aimed at stimulating the economy. At first, the president considers an
expansionary fiscal policy and the corresponding multiplier effect.

a. (2 points) What is the marginal propensity to consume (MPC) in this economy?

b. (3 points) Calculate the fiscal multiplier.

¢. (5 points) Suppose Country Z receives foreign aid, which enables an increase in government
spending without raising taxes. Given a change in government spending (AG = 50) and no change
in taxes (AT = 0), what is the resulting increase in aggregate demand?

In Country Z, the nominal interest rate is fixed at 8%. The current growth rate of the money
supply is 7%, and the current inflation rate is 5%. To stimulate investment, the central bank
increases the growth rate of the money supply to 9%.

d. (2 points) What is the inflation rate after the central bank’s monetary policy?

e. (3 points) Referring to the Fisher effect (Fisher equatlon) calculate the new real interest
rate after the monetary policy.

f. (5 points) Given the change in the real interest rate, calculate the change in investment (AT )

What is the resnlting increase in aggregate demand?
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